Ubergangsfunktion T

alte Anweisungsfolge

neuer Zustand

neue Anweisungsfolge

€; <A>

b:=0; <A>
bl:=b2+1; <A>
bl:=b2-1; <A>

1f b =0 then <A1>
else <A2> end; <A>

while b£0 do <A1>
end; <A>

zZ

z<b<-0>
z<bl<-z(b2)+1>
z<bl<-z(b2)-1>

V4

<A>
<A>
<A>
<A>

<Al>;<A> falls z(b)=0
<A2>:<A> sonst

<A> falls z(b)=0
<Al>;

while b#0 do <A1> end;

<A> sonst




Eingabe- und Ausgabetunktion

MINI-Programm habe die Form
P :=read bl,....br; A; write cl,....cs
Eingabefunktion: a(P,x1,...,xr) :=(A,z0<bl<-x1> ...<br<-xr>)

Ausgabefunktion: w(€,z) = (z(cl),...,z(cs))



